Question Paper Preview

Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Question Paper Name : Paper I Telugu 20th Jun 2025 Shift 2

Subject Name : Paper I Telugu

Duration : 150

Total Marks : 150

Display Marks: Yes

Share Answer Key With Delivery Engine : Yes

Actual Answer Key : Yes

Change Font Color : No

Change Background Color : No

Change Theme : No

Help Button : No

Show Reports : No

Show Progress Bar : No

Paper I Telugu

Group Number : 1

Group Id : 47718710

Group Maximum Duration : 0

Group Minimum Duration : 150

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 150
Child Development and Pedagogy

Section Id : 47718746

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 30

Number of Questions to be attempted : 30

Section Marks : 30

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 47718773

Question Shuffling Allowed : Yes



Question Number : 1 Question Id : 4771871378 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Development does not proceed at a uniform rate and shows individual
differences but schools follow class wise common curriculum because
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Options :
mdividual differences cannot be addressed in schools
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development proceeds from whole to parts and parts to whole
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development follows a definite pattern
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development 1z not predictable
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Question Number : 2 Question Id : 4771871379 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements and identify the correct answer
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A)  Providing appropriate training at the time of maturation helps in
achieving desired success

#

2088 200 Hdchod® A% 3% eohodEo $o 830ds Jexdho FhoSEod®

=L

s

HaPchHthdod
B) Our National Education Policy, 2020 recommended six years as the age of

admission to Grade 1
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Statement A is falze
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Both Statements A and B are true and A does not offer correct explanation
for B
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Both Statements A and B are false
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Both Statements A and B are true and A offers correct explanation for B
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Question Number : 3 Question Id : 4771871380 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The basic factor in mental development among the following 1s
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Parental education
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Organ growth of the nervous system
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Rewards and punishment
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Question Number : 4 Question Id : 4771871381 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Developmental tasks are related to what a developing child 1s expected to
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Choose the correct answer
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Question Number : 5 Question Id : 4771871382 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Moral judgments are highly internalized in this level of moral development
according to Kohlberg
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Question Number : 6 Question Id : 4771871383 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The experiences to be provided to infants will be appropriate if they are related
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Question Number : 7 Question Id : 4771871384 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Individual differences help us understand that each individual is
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Question Number : 8 Question Id : 4771871385 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the example that is NOT an expression of Self-concept
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I am shy
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I am strong
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I go to school
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Iam god fearing
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Question Number : 9 Question Id : 4771871386 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following CANNOT be an initial action in treatment of ‘Lying’
behaviour among children
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Options :

Developing sportsman spirit
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Punishment
35
2.
Narrating ideal stories
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Question Number : 10 Question Id : 4771871387 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In one of the following methods. the responses are taken directly from the
person under study and responses can also be controlled
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Question Number : 11 Question Id : 4771871388 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to learning
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Learning is not a natural process
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Learning 1s universal and continuous
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There are different types of learning
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Learning leads to changes m behaviour
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Question Number : 12 Question Id : 4771871389 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Providing proper feedback and reinforcement in learning is a factor relating to
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Question Number : 13 Question Id : 4771871390 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sucharitha has a four year old daughter. Whenever her daughter does anything
correctly she savs ‘good job’ to strengthen her learning and her daughter gets
excited whenever she listens to it. This 1s in accordance with this law of

learning of Thorndike
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Law of Effect
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Question Number : 14 Question Id : 4771871391 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to Classical Conditioning. the principle of learning to be used to

gradually change the undesired behaviour 1s
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Question Number : 15 Question Id : 4771871392 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Kavitha participates in many quiz competitions in and out of school as her

mother buys her one gift for every 4t8 win. The reinforcement schedule followed

here 1a
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Variable reinforcement schedule
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Fixed interval reinforcement schedule
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Continugus reinforcement schedule
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Fixed ratio reinforcement schedule



Question Number : 16 Question Id : 4771871393 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Theory of Insightful learning requires organisation of the perceptual field and
learning material in the form
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Question Number : 17 Question Id : 4771871394 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Mimy asked her father for going out for swimming in the sea. Her father

explained her about the risks of swimming in sea. The learning here 1s related
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Question Number : 18 Question Id : 4771871395 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Vashisht 1s a ten vear old boy who does very good art work. Whenever there 1z a
birthday or a special day of anyone in family or friends, he prepares beautiful
greeting cards as it gives him immense pleasure. This 1s an example for
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Unnatural motivation
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Question Number : 19 Question Id : 4771871396 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Rinky 1s an animal lover. Her father took her to many zoological parks within
country and in other countries. When anyone asks her about the animals in any
of those zoological parks she tells about them without any flaw. This example
refers to
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Semantic memory
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Question Number : 20 Question Id : 4771871397 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Shobha took one week to learn first tune in her music class. Thereafter, she took

lesser time for the subsequent tunes. The transfer of traiming that happened 1s
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Zero transfer
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Question Number : 21 Question Id : 4771871398 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Students active involvement in learning brings about this among learners
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Rote memorization
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Concentration on learning
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Question Number : 22 Question Id : 4771871399 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A teacher establishing a connection with the pupil which is very important.
happens during this phase
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Question Number : 23 Question Id : 4771871400 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In this method. learners sit together for loud thinking to find a solution to a

problem by generating a large number of ideas
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Question Number : 24 Question Id : 4771871401 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
All but one among the following are expected from the Principal of a school in
creating an inclusive centre
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Make staff aware of the needs, rights and capabilities of children with

disabilities
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Ensure inclusive practices are followed in school
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Ensure physical environment of the school 1= accessible to the children
with disabilities
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Question Number : 25 Question Id : 4771871402 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per Rule 2(a) of Section 13 of the Right of Children to Free and Compulsory
Education Act., 2009, any school collecting capitation fee. shall be punishable

with fine which may extend to
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ten times of the fee charged
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Question Number : 26 Question Id : 4771871403 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the example for Criterion-referenced test
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Question Number : 27 Question Id : 4771871404 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following types of child abuse come under social abuse?
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A) Infanticide
Bhiass

B) Child Marriage

E) Child Labour
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Choose the correct answer
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Options :
C.D & E only
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Question Number : 28 Question Id : 4771871405 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. those that relate to zelf as a learning resource are
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B) Learner's past experience

C) Learner’s motivation
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Choose the correct answer
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A & Bonly
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Question Number : 29 Question Id : 4771871406 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The leadership style of a teacher who leaves her students on their own with
neither advising nor praising nor criticizing 1s
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Question Number : 30 Question Id : 4771871407 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A primary school child who

narrated what all she saw to her friends and teacher after vacation. The girl 1s

went to another country for summer vacation

in this mode of representation according to Bruner
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Language I Telugu
Section Id : 47718747
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 47718774
Question Shuffling Allowed : Yes



Question Id : 4771871408 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 34)
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Sub questions

Question Number : 31 Question Id : 4771871409 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 4771871410 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 4771871411 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 4771871412 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 47718775
Question Shuffling Allowed : Yes



Question Id : 4771871413 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (35 to 38)
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Sub questions

Question Number : 35 Question Id : 4771871414 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 4771871415 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Options :



Question Number : 37 Question Id : 4771871416 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 4771871417 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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: MCQ Option Shuffling : Yes Display



3. %

S dDomre 5% hathe B8h
4. &
Sub-Section Number : 3
Sub-Section Id : 47718776
Question Shuffling Allowed : Yes

Question Number : 39 Question Id : 4771871418 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 4771871419 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

R e V4 ANV AR e o T
e dDmen 580 wlanb?
{1

21k,

Ty - o B v
aadho, wenHa” @

Options :

v DE0E

1. - -
il

2. %

3 % e
WK

4, %

Question Number : 41 Question Id : 4771871420 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 4771871421 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 4771871422 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 4771871423 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Question Number : 45 Question Id : 4771871424 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 4771871425 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Question Number : 47 Question Id : 4771871426 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 4771871427 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 4771871428 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 4771871429 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 4771871430 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 4771871431 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 4771871432 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 4771871433 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 4771871434 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 4771871435 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 4771871436 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 4771871437 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 4771871438 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 4771871439 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Language II English

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

47718748
3

Online
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26
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Question Id : 4771871440 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65) Read the following passage and choose the correct option for
each question.

Over the years. the United Nations has played a crucial role in resolving
numerous conflicts, often through the actions of the Security Council. the body
primarily responsible, under the United Nations Charter. for maintaining
international peace and security. When the Council receives a complaint about a
potential threat to peace, its first step 13 to encourage the parties to reach a
peaceful agreement. In some cases, the Council itself conducts investigations and
facilitates mediation. It may appoint special representatives or request the
Secretary-General to do so. or to offer his good offices. The Council may also
propose principles for a peaceful resolution.

When a dispute escalates into violence, the Council's main priority is to
end the conflict as quickly as possible. The Council has frequently issued
ceasefire directives that have helped prevent large-scale hostilities. It also
deploys UN peacekeeping missions to reduce tensions, separate opposing forces,
and establish the conditions necessary for sustainable peace once settlements
are reached. The Council may also impose enforcement measures, such as
economic sanctions like trade embargoes or collective military action.

The United Nations Security Council i1s composzed of 15 member states,
which include 5 permanent members—China, France, Russia, the United
Kingdom, and the United States of America—and 10 non-permanent members
elected for two-year term by the General Assembly. The permanent members
hold veto power, giving them significant influence over the Council's decisions,
while the non-permanent members contribute to maintaining international

peace and security through their rotating representation.
Sub questions

Question Number : 61 Question Id : 4771871441 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the passage, the Security Council of United Nations 1s primamly

responsible for



Options :

protecting the environment in member nations.
1. %

safeguarding human rights.

providing health facilities to the needy.
3. %

promoting international peace and security.

Question Number : 62 Question Id : 4771871442 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Based on the reading of the passage. pick the correct option.
Options :
The Security Council i1s comprised of 15 members, 5 of which are

permanent members - the United States of America, India, Russia, the

L% United Kingdom. and China.

The Security Council 1s comprised of 10 members, 5 of which are
permanent members - the United States of America, France. Russia, the

> % United Kingdom, and China.

The Security Council 1s comprised of 15 members, 5 of which are
permanent members — the United States of America, France, Russia, the

United Kingdom. and China.
3. %

The Security Council 1z comprised of 15 members, 5 of which are non -
permanent members - the United States of America, France, Russia, the

4% United Kingdom. and China.

Question Number : 63 Question Id : 4771871443 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



When the Council receives a complaint about a potential threat to peace, its
first step 1s to
Options :
Impose economic sanctions.

1. ®

encourage the parties to reach a peaceful agreement.
2. ¥

send International peace keeping forces.
3. ®

1gnore the 1ssue and leaving it to the concerned parties.
4. %

Question Number : 64 Question Id : 4771871444 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The word ‘embargoes’ means
Options :

consents.

1. #

reastrictions.
2.%

approvals.
3. % &

promotions.
4. %

Question Number : 65 Question Id : 4771871445 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Council has frequently issued ceasefire directives that have helped
Options :
support widespread conflict.

1. ®

embrace widespread conflict.
2. %



encourage widespread conflict.
3. %

avold widespread conflict.

4. <

Sub-Section Number : 2
Sub-Section Id : 47718778
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 4771871446 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The children were laughing at the comedian.
Identify the correct passive voice.

Options :

The comedian was laughed at by the children.

The comedian was being laughed at by the children.
2.V

The comedian was been laughed by the children.
3. %

The comedian 1s laughing at the children.
4. %



Question Number : 67 Question Id : 4771871447 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Bring me some fresh mint leaves for the tea, ?

Complete the sentence with correct option.
Options :

1sn’t 1t

shan’t you

will you

don’t you

Question Number : 68 Question Id : 4771871448 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Pick the correct sentence.

Options :

I advised him to carry the bag carefully.
1.

I advised carefully him to carry the bag.

I advised him to carried carefully the bag.
3. ®

I advised him carry to the bag carefully.
4. ®



Question Number : 69 Question Id : 4771871449 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
I can't people who make judgements.

Complete the sentence with correct option.
Options :

baiwr
1. %

bier
2. ®

3 bear

beer

Question Number : 70 Question Id : 4771871450 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The article ‘an’ is used before a singular noun beginning with

Options :

a consonant sound.
1. %

a vowel letter giving a consonant sound.
2. %

a consonant letter giving a consonant sound.
3. ®

a vowel sound.
4. &



Question Number : 71 Question Id : 4771871451 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the incorrect pair of singular and plural forms.
Options :

mouse — mices
1.¢

oasls — pases

OX — 0Xen

syllabus —syllabi

Question Number : 72 Question Id : 4771871452 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

[ can’t understands her because I don't know Tamal.

A B C D

Options :



Question Number : 73 Question Id : 4771871453 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This 13 the movie ['ve ever seen.

Choose the correct option to complete the sentence.

Options :

most best
1. %

better

. best

more better

Question Number : 74 Question Id : 4771871454 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Writing of somebody’s life story is called
Options :
hithography.

1. ®

biography.
2.¢

autobiography.
3. %

calligraphy.
4. ®



Question Number : 75 Question Id : 4771871455 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
She has been living in Hyderabad 2020.

Choose the correct option to complete the sentence.
Options :

to
1. %

gince
2. ¢

for

by

Question Number : 76 Question Id : 4771871456 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose incorrectly spelt word.
Options :

Demolition

Deterrent

Desecrate
3. %

L Dillema



Question Number : 77 Question Id : 4771871457 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

While I eating an apple, he at the door.

Options :

had, knocked
1. ®

am. had knocked

2.

were, knocks
3.

was, knocked
4. &

Question Number : 78 Question Id : 4771871458 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify correctly punctuated sentence.

Options :

My friends and I went to the ground.
1.

My friends. and I went to the ground
2. %

My friends and I, went to the ground.
3. %

My friends and 1 went to the ground.
4. ®



Question Number : 79 Question Id : 4771871459 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choosze correct sentence.
Options :

The presence of an ecosystem depends on the balance of every types of

animal.

1. #
The balance of an ecosystem depend on the balance of every type of
animal.

2. %
The balance of an ecosystem depends on the presence of every type of
animal.

3. ¢
The balance of every type on animal depends of the presence of an
ecosystem.

4. %

Question Number : 80 Question Id : 4771871460 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The boy 1s too intelligent to be easily.

Choose the most appropriate option to complete the sentence.

Options :

decelves

deceived

decieving
3. %

decieved
4.%



Question Number : 81 Question Id : 4771871461 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Police keep track of the kidnapper using electronic surveillance equipment.

Identify the meaning of the word ‘surveillance’.

Options :

observation
1. ¢

complexion
2. %

oblivion

lonorance
4. % 8RO

Question Number : 82 Question Id : 4771871462 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I won't pay unless you provide the goods immediately.
The word ‘unless’ 18 a /an

Options :

preposition

interjection
2. ®

pronoun
3. %

conjunction
4.



Question Number : 83 Question Id : 4771871463 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Dhanrajis person in the village.

Complete the sentence with the appropriate option.

Options :
rich
1. %

more rich

the richest

the richer

Question Number : 84 Question Id : 4771871464 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Pallawvi said to him, “You must obey your elders.”
Identify the indirect speech.

Options :

Pallawvi said you should obey your elders.
1. %

Pallavi told him that he must obey his elders.
2.¢

Pallavi said to him that he should obey yvour elders.
3. %

Pallavi ordered to him that we must obey our elders.
4, %

: Yes Display

: Yes Display



Question Number : 85 Question Id : 4771871465 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Universities of Calecutta, Bombay. and Madras were established through the
Acts of Incorporation passed by this Governor-General

Options :

Canning
1. ¢

Macaulay
2. %

William Bentinck
3. %

Dalhousie
4. %

Question Number : 86 Question Id : 4771871466 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the discourse that is both oral and written.
Options :

Daary

Essay
2. %

Poster

Description
4. &



Question Number : 87 Question Id : 4771871467 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
“Make corrections using capital letters and full stop (.). wherever necessary.
Rewrite the following sentences.”
This task given in the Primary Level textbook of Telangana Board falls under
this component.

Options :

Speaking
1. %

Conventions of Writing
2.9

Grammar
3. ®

Vocabulary
4. %

Question Number : 88 Question Id : 4771871468 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A key benefit of using ICT in teaching English 1s
Options :

avolding participation in class activities.
1. %

reducing the need for textbooks.
2. ®

minimizing the role of the teacher.
3. ®

enhancing accessibility to diverse learning resources.
4.



Question Number : 89 Question Id : 4771871469 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following is a tool in Formative Assessment in Telangana State Board.

Options :

generating question
1. %

field trip

alip test
3.¢ P

pD.I‘thlp:lthll I games

Question Number : 90 Question Id : 4771871470 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Language acquisition occurs only when

Options :

the child learns the vocabulary by heart.
1. ®

the child 1s taught the grammar principles.
2. %

the child drills the structures of language.
3. ®

the child has exposure to language.
4.«

Mathematics

Section Id : 47718749
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30

Number of Questions to be attempted : 30



Section Marks : 30

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 47718779
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 4771871471 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of digits in numeral of 100 crores is

100 B°¢ Jog&” ot @oBe dog);

Options :

, 1B
1. %
11
2. %
10
3.¢
9



Question Number : 92 Question Id : 4771871472 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The diesel price per litre 13 $95.70. A petrol bunk sells 700 litres of diesel on a
day. How much money do they get on that day?
2.8 Dot &2 55 T95.70. 2.8 TS 208 o8 Bex 700 dool A2 0B, & Bor 08

oo Keny :ob?
Options :

763,990
1. ®

$66,990
2.¢

764,590

$67.930



Question Number : 93 Question Id : 4771871473 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Government of India declared this vear as National Mathematics Year to

commemorate the 125th birth anniversary of Srinivasa Ramanujan.
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Options :

2013
1. ®

2011
2. %

2010
3. %

2012



Question Number : 94 Question Id : 4771871474 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The sum of two whole numbers 1s always a

Cotd Jrorosre Judo .
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#1

ol
P

L,

Options :

whole number

P TP050
i)
1. ¢
Fraction
g0
2. %
Negative number
E0E9 o0
3. %

Prime number

BTPH Do

: MCQ Option Shuffling : Yes Display



Question Number : 95 Question Id : 4771871475 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following numbers 1s NOT divisible by 8?7
o8 26 8 3 grRoSaKd Sop; 06?

Options :
859456

613684
4. ¢

Question Number : 96 Question Id : 4771871476 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the FALSE statement from the following

o orh . a2
Bob TAE” @8 arsoy), DBodol

Options :
A line has no end points

| % 28 0% Oph @b dothiden Goks

We can draw many lines through two distinct points

. Ty g £ o B T S T v
v Cotd 28, Hothse Dot shdo ) Sopeonas AcHHS
2. ' h

Ray 1s a part of a line

O9é® &0 2.8 gritain
3. %

Line segment has a definite length

. Og° Poissin VBH SPED EOA Gotnod
4. o

: Yes Display

: Yes Display



Question Number : 97 Question Id : 4771871477 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a circle, region enclosed by an arc and two radi 1s called as

. o
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Options :
Sector of the circle

Berrodsin (H 8o Glns) VE6)

L

1. ¢
Circular region

D@l @rodEn

Segment of a circle
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Question Number : 98 Question Id : 4771871478 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

At 5:00. what type of angle 1s formed between the minute and hour hands of the
clock?

5:00 Hoter, HECTPE0E D) Advare B4 Hobe sng iy o 58S Bso
Aleilasl:ViotaY,
Options :
Straight angle

0% Bmo

Right angle

Obtuse angle

:
=]
=265 S'mo

Acute angle



Question Number : 99 Question Id : 4771871479 Question Type
Question Number : Yes

: MCQ Option Shuffling : Yes Display
Correct Marks : 1 Wrong Marks : 0

—2025 less than 2025 by

i

—2025, 2025 Bo&

L

s
ooy '.'t'_?r‘:u_,.'_-:-,-?

Options :

Question Number : 100 Question Id : 4771871480 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

(—10) —(—18)+(36)(—3) —(-97) =
Options :

==



Question Number : 101 Question Id : 4771871481 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Write the following fractions in ascending order?

fa

& F:
o ey Lo Y Yy A i
:EQG- Sl 2el) B0 oJ7EF (Sc0D oednol

e

& %5 3 B
2’ 4" 8" &' 12
Options
1 9% B .3
4’ 3" 8" 6’ 12
1. ®
1. 4% 3 F 5§
4’ 3" 6" 12" 8
2.
7 1 1 3
12" 3’ 4" &'
3. ®
¥ 5 F 4 1
12’ 8" 6’ 4" 3

: MCQ Option Shuffling : Yes Display



Question Number : 102 Question Id : 4771871482 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Arjun travelled 9%km 27m by bus, 4 km 325m by car and 2km 630m on foot.

S 2Bt BKgst

[
ol

How much distance did he travel in all?
%I@E opunys” 9 8.5b 27 db, =08 4 85b 325

- o o o o gl oSy P o - = -
mdirBortl. @80 dndo dod rdo mdirdoartD?

Options :
16km 225m

- 168.5% 22580

15km 415m

, % 15880 4158

15km 982m

s& &, 0872 &
. 158.8» 082

16km 25m

4 % 168.5 258



Question Number : 103 Question Id : 4771871483 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Who 1z known as father of Indian Statistics?

P . - Ao wf ~ Loy B D i
{q_l-b'ﬁ@ o Oagé TPy 01BN BB -::_:'F'_.-_,-r:"_ﬁ_. ?
£ = -

Options :
Arvabhatta

'-m f;ra:

S]."llll‘i asa Rﬂ.l]]ﬁllu]ﬂll
@-;c_, 2 OraE u:waE“;E

Shakuntala Dew1

H5o%er L_j.:. ]

P.C. Mahalangbis

Question Number : 104 Question Id : 4771871484 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If4x +3(x —2) = 2x + 9, then value of x =
4x +3(x —2) = 2x + 9 wonad x =

Options :

2
1. %

fad

2. ¢

(]



Question Number : 105 Question Id : 4771871485 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ramesh wants to fence a rectangular plot of length 100m and breadth 50m. The
cost of the fencing is ¥20 per meter. Then, the total cost of the fencing around
the plot 15

-’:#E:n.:,; 100 EJJE:-:LT PED sbcin S50 el Iken) 5OAD éng el apén A% Sod

-:&J'IULJ 25 p"f_a ﬂ.u.!""é@ E(ﬁ:
Options :

| % 73000

710000
2. %

3 76000

720000

Question Number : 106 Question Id : 4771871486 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The perimeter (in em) of a regular pentagon of side 12 cm is

3,

)

12%0.50 ghesore He 2.5 Sihaodshad ans, ::eté”‘eﬁ_% (Ro.sh. ©

Options :
60

1.+

« 120

90

144



Question Number : 107 Question Id : 4771871487 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: Yes Display

A millk man adds 400 ml of water to 1 litre of milk. The ratio of water to milk is

Py oy dry g e oy, e B e pars o—hr S ol e
85 adreora,t 1 o areb 400 £p.9. Jh Seny@ctl. @& ol PO oJOD,
i.T-.-\./_“E
adognes

Question Number : 108 Question Id : 4771871488 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the product 359 x 953, the sum of ten’s digit and ones digit 1=

5 - :

12 g el B e g oy B o Do Dl

350 % 053 & epod®, Hithe PHodd) HBA .88 rHodth e@oBe: Sndo
c) . A =

Options :

-
o7

: Yes Display



Question Number : 109 Question Id
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
26.858 + 2.6 =
Options :

10.03

1. %

10.31

2. %

, » 1033

Question Number : 110 Question Id
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2
(0.0625)% =
Options :

0.25

1. %

) 0.125

0.025

0.0125

: 4771871489 Question Type : MCQ Option Shuffling : Yes Display

: 4771871490 Question Type : MCQ Option Shuffling : Yes Display



Question Number : 111 Question Id : 4771871491 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the number 7+ 87% 4, same digit lies in the place of ‘*’ and the difference in
its place value 1s 59940, then what 1s that digit?

Tx87x4 o3 Hogrst, 'x' a:%c@"‘ 2.8 @08 &ob B & Dendd® S
59940 ©ond & o8 Dane?

Options :

L% 2
2 % !
3, % 8
4.*%-4’6

Question Number : 112 Question Id : 4771871492 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following represent set of prime numbers?

o o "-‘*:- W vy i gy ey ¥
Bobd ordd l@?é cdOEITEY edelled by ?

Options :
{109, 139,149, 179}
1. v

. {109,119,149, 189}
2.

{109, 129, 159, 199}
3. %

, {109,139,149,169)
4.



Question Number : 113 Question Id : 4771871493 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
: . 3 5
If the cost of 9 mangoes is ¥288, the cost of 4 - dozen mangoes 1s
3 &~

P e T Wt ad m ard
{32300 -DJ.T:D-:]JE) ot 0 clodh?
o

0 & é S0 5 T288 eond, 4

=Y

Options :

T1814
1. ®

71834
2. %

71824

J

1844

Question Number : 114 Question Id : 4771871494 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If number of edges and vertices of a triangular pyramid are E and V
: v
respectively, then 5

,. : N

A -y v B o oy e AN Sl T AT . e £ ot . T, W A e S

2.8 |Bghersed DO8hG Ging); ®odhen 0BG dure Doy LT E 5800 V wong, =
; ! 5

Options :

3
% 2
2
20 3
1
3. % 2



Question Number : 115 Question Id : 4771871495 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

“A student 1s able to write decimals in ascending and descending order’. Then

the objective achieved by the student 1s:

DB SeoTred 68ire, B8bFe Bos Tobiod”. wond & dod

Options :
Knowledge

st le]

o

] % =

Understanding

s Ta ik
2.
Application

Jad@rio

Skill

g A
coadiEBrO
i =1

4. %



Question Number : 116 Question Id : 4771871496 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The main purpose of presenting the work done by the children in the activity-
bazed method is:

Fo g o = & AT at nat £ - S 1 -
g @l HUaE EJD‘-‘;(‘_’-IQ:-E: TR 20 PSthodto s snY; &34;0:

2
Options :
Keeping the classroom clean

EONE HE HBHPore Goditio

Making the classroom beautiful

#0118 rdd wodore sird o

Making the classroom as an interesting learning center

S5KE KO SHE55S w2958 So@ore 5rE: Ko
3.

Decorating the classroom

HE18 KB eeoBoddo
4, %



Question Number : 117 Question Id : 4771871497 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following resources for teaching mathematies, it is NOT a human
resgurce:
Bob Kedd S5 Sihed’, 38 Srdd $5& b
Options :
Tailor

200

1. ®

Carpenter

BHiioh

Gardener

o -
76D 51078

Post office

- g ot
Fo o0 8350000

4. v



Question Number : 118 Question Id : 4771871498 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In writing a period plan. the Herbartian step where the teacher tests

competencies acquired by the students on the topic taught is:

TN P -, A £ \ '- L e o y - 2.
aPBRdE BU8E°, sarerding £80d8 srerpdon adwrgher @Boild APEHT oM

Options :
Preparation
JHPyEro

(=9

Presentation

2entyes

Assgciation

2ombo
4]

Recapitulation

288508,
4.v i



Question Number : 119 Question Id : 4771871499 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The assessment that gives feedback in the teaching and learning of the topic

“Pairs of Angles™ 1a:

i oo

oot s aa b . W MW R
5%gre) aadten”’ &3 arErrod SCOReNNE” HBaad sobosy:

Options :
Formative assessment

SO e 8 shbo)

1.v

Summative assessment

-

et et £l L Lo
) % wofaTerE)5 snboal

Continuous comprehensive assessment

w000 0 Hobosy
3. %

Prognostic assessment

. ErIDES $B0ib
4, -



Question Number : 120 Question Id : 4771871500 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The main purpose of problems given under “Do This” in mathematics

textboolks 1s:

" " .

Y T AP 4 . T S T E TR SR O . Y T R L F A

aPdryasred” “ag 2onod ol 8-l Hire Y- &0E 0!
—a A o)

=]

fieBe

¥

Options :
Solving the problems only after discussing in groups
AufametEo B aen vt e ot Y sl Matet ooy o et
edollPalr e L_-,_LE_C'L'#_, S0P olTR 80D ,_'c.-_.t-,__l'?_,m_, oSS0 TI0

1. % ' ;

To know students' understanding of the concepts taught

o5

G 0008 PRde7 urie TR Senihs Hto
2. ¥ e
Giving problems as homework to students
D80:on DTEitheh sodhde sto
3. % )

Developing logical thinking in students

. .} g, ,-..-'n: S fr e — r
JtEtoed” @5 ad HHa RosFoboiitio
o C g

4, ®

Environmental Studies
Section Id : 47718750
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section 1d : 47718780

Question Shuffling Allowed : Yes



Question Number : 121 Question Id : 4771871501 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A child is suffering from night blindness. Which of the following will help in
1mproving his condition?
2.8 Boartd THSBE b, Bob IS D8 wd HBBED DSHIDHBSTIS
a0 D00 ?
Options :
Lemon juice

Tyt et
-:\_n-:-.l_,'&'t:'n'_“'O

Carrots and papaya

5 ¢ T8 8o £5°2my0m

Rice and chapati

f ot DU
B0 08y Jars

Cheese and butter



Question Number : 122 Question Id : 4771871502 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following were proposzed by Dr. Verghese Kurien to increase milk
production in India?
PEE0F0E" re 68,80 DoITIE EE SOF HBAHS & Gob ES° TAI
péarloaetn?
A) Producing hybrid varieties of cows and buffaloes
PEE Sore sHen HBAD Rded 688 Babiko
B) Improving animal health
0O {*{sEE'rTﬂ;?J;_ EVhlahlaVrolonlale:
C) Efficient milk collection and preservation
S8 B508:S Feer DEBes HBEW Hob¥es
Choose the correct option
888 o)) Joths ol
Options :

AB&C
1. ¢

A & Bonly
A & BsrEd

A& C G]‘.l].__‘i"
A & C 5r@sd

B & C 0111}'

B&C 553”5535-;_:’;:-
4. %



Question Number : 123 Question Id : 4771871503 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Red rot disease 1n sugarcane 1s caused by a

BOHS" ;lﬁégjg Biven 5 fJ C}m =ed 0“:\“{‘.-%

Options :

2. %

3.¢¥

4. %

bacterium spread through air and seedlings

) 60k Snede TR iR Jolhd E:Jgafji-:o e

virus transmitted by nsects

(i

&5Pe) [PI0° ara) Dothiéni, J0& Hed

Fungus spread through air and infected seedlings

o 306050 s=H FBES Swede TR arl) Bothds, 8doBo Heod

Nematode attacking roots

~

- -
Sy =5 o aot e iy
-:,.-g-'p., el T2 [0 Hed

: Yes Display



Question Number : 124 Question Id : 4771871504 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Rangaiah often says. “I am not healthy.” According to the World Health
Organization (WHO ), which of the following best defines health?
Boiich; 855 ‘o abiiio errrdth el eotrid. Hhos a8, S0 (WHO) gsedo,
808 ariS® 08 BE el o DD 08?
Options :
Physical well-being only

- -
oY S T R R R L
F=005 @CI‘J-?.J | o786

Mental well-being only

i e e, i &
VI |pCi‘JrJ3;. c-J.,TIﬁEJ

Social well-being only

T e
P N tz_'ad:l_,'nl'ﬁw. ST |tE ek

Physical. mental, and social well-being

4. v



Question Number : 125 Question Id : 4771871505 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In historical seientific terminology, what does the term “fixed air” refer to?
TOEE FerdE HBerRSt, “BEHS D" o Hifo BAD Erdkod?
Options :
Oxygen
w8l

(2%

Nitrogen

3. =

Hydrogen

= -]
oIP|G 830



Question Number : 126 Question Id : 4771871506 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The main constituent of the energy respurce “coal” 1s
38 B5% “FrD” g HTed o
Options :
Carbon

1. ¢ B

Hydrogen

=1 =
o3
_D-.Tch.: Cop

Oxygen

e
<

[
o e
o

Nitrogen

.--g =
ST em
e



Question Number : 127 Question Id : 4771871507 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A person with high blood pressure suddenly complains of nausea and dizziness
On asking them to smile or laugh. you notice their mouth is crooked. speech is
slurred, and they cannot raize one hand. What should you infer and do next?
w83 5550 &8 Hif wEF T Do HBOWH BedHDEKEn Hovyth I, B
Rl ebASath, b B H5050 GoBd, Sréen f_;c\}“.n_{Om &0 sHBoin ;D

4

2.8 Do D8 EBETERTBD Do HshdoNHD,). b 28 &droTrd HBAM Shars

Options :

It i1s a sign of simple fatigue; let him rest and monitor

38 Frrdn vebnd Ho880; 88, JFrod &HE NN, HHSoKod
1. ®
These are symptoms of paralysis; seek immediate medical help
59 HETEo G ofmren; SobT B; Hifcho &8l
2 Q;? & '] it ]
The person 1s faking symptoms; encourage him to move more
;8 & oisrendtn 35TrD; w8l HHdod 50050 FFErotod
3. ®

These symptoms are due to dehydration; give him water and wait

A3PEAS Emorr & ofmren saron; 0828 H 5l F9 GoXod



Question Number : 128 Question Id : 4771871508 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following statements and choose the correct option:
Sob arzmpesd $68 508 eilyse) JohsPol:
Statement I : All the clouds do not always cause rain.
o - o ey JePr STR) EDRASY.

Statement II : Clouds are formed from heavy droplets of water vapour.

-
o

g 11 : Fhdoren &8 D8 828 fothde Solf mD HaEran.

Options :
Both Statement I and Statement II are correct.

| % w; e I E{‘J_,E}G_J_J, {:u_' =W II EOE‘T wug?lgj

Statement I 1s correct but Statement II 1s incorrect.

aecgr 135086 =00 armggy; 11 2565°06.

2. = =
Statement I 1s incorrect but Statement II 1s correct.
c-_.J":"" B 63%.{:} 5’"‘-:;' a_l o gl II wﬁ\ﬁl_r:l

3. ®
Both Statement I and Statement II are incorrect.

o 5 Ic-.::?aiu, _'":"" It II Ootr Hbsead).

: Yes Display



Question Number : 129 Question Id : 4771871509 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following statements and choose the correct option:
8ob aFyme $68 388 ai)m) JothEiod:
Statement I : Birds have wings to fly.
sy I : Ren NGRS 05 en totFon.
Statement II : Birds have hollow bones to lessen weight.
aesgs 11 : DD é@oﬁrﬁﬁjé DB Shen adnsen dotron.
Options :
Both Statement I and Statement II are correct.
aecgy 1 sh8ain ey 11 Bode H53:52)

1.9

Statement I 1s correct but Statement II i1s incorrect.

9y I 5058 =20 amgyg 11 S65006.

o

Statement I 1s incorrect but Statement Il is correct.

ey I 565008 o0 argyy I 58:H56.

el

Both Statement I and Statement Il are incorrect.

P | &84 amegr 11 Cotr H05°R3.



Question Number : 130 Question Id : 4771871510 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The world's largest living bird from the following 1s

" o .
£ B B FES e S
Sob oS d” moodiod s ®@&al) nils oz
\C s

[+ W i Ll
Options :
Emu

£l
[« M)

Cassowary

Albatross

s
e ETR



Question Number : 131 Question Id : 4771871511 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Water pollution can be reduced by implementing the 4Rs principle. Which

of the following is NOT a part of the 4Rs?

4Rs $rEed) e3hen Bahio T I SPensl;y $RoSDED,. Sob TEE*
4Rs&* eriio 500 087
Options :
Reduce
#hoiEo
L® 0
Reuse
Db-rdrfodido
2. %
Recover
&BA srPotito
3. %
Remove
&Feofodto

: Yes Display



Question Number : 132 Question Id : 4771871512 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What type of blood cells help in clotting?
o) BEDH U5 Seren REsLEA5 SsPabadaron?
Options :
Red blood cells

| % QO 85 Seren

White blood cells

*

2o 05 Seen

o
#
[

Platelets

3. &

ool ]

: MCQ Option Shuffling : Yes Display



Question Number : 133 Question Id : 4771871513 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
During summer vacation. Ravi, who lives in Hyderabad, wants to wvisit

Kavaratti. To reach Kavaratti, which of the following Union Territories would

he need to travel to?

- - = 4 ey - —_'|.‘vz = S e o w3 - A P - At
PUTEre & NN G &k RS 500N HolBoTrodBHotnimi. ©8D
—— 5 (o3

s gy Do o 0t S5n T Badt @i SmestoSe e 9
=4 i‘-',.é;r,.l DB Hans, @8 o So _J_.‘lc-J eles o P00 PJC'EIE'E';C??E} !

Options :

Puducherry

| $5503,8

Andaman and Nicgbar Islands

2. % ;
Lakshadweep
A =
3 qﬁ? Laﬂwm

Daman and Diu

4 % TS B0 Eodry



Question Number : 134 Question Id : 4771871514 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following causes rainfall during winters in North Western

Part of India?

E e, = gt a -'-3 F ot - LY _ ,'-_ L o L=
darsre0d”, grOE0E) aPain; prodod® Hlarerds s*8mshdly; Hdaren 28)?
- Z

Options :
Trade Winds
aPrael) Saeen

1. % Z

Western Disturbances

3,

28w S8 e2een
2.9

Lt s

[

South West Monsoon Winds

3 % & D Ddaren

Retreating South West Monsoon Winds

G850 Jhd S DdaTren
4. %



Question Number : 135 Question Id : 4771871515 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Most of the forests of Telangana fall in this category

=
=

ﬁ

% o e e T T . 1

Bo0lFed o) @SN 5O & H0od 8 Saron
o 4]

Options :

Tropical Evergreen Forests

rd

ﬁ;’%&-ciﬁﬁ; pess 288 eden
1. ®
Temperate Evergreen Forests
, % n}‘ci%Ec% e 0 elDen
Coniferous Forests
Hjomesed edden
3. %

Deciduous forests

.
"
esfhoredy eoddiden

4. v



Question Number : 136 Question Id : 4771871516 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Under this settlement, the peasants cultivating the land were identified. their
field was identified and a Survey number was given to every pilece of land
fixing the legal ownership
% S0b eaolio Esedo, & D TRd) fRo, 6 Srerd, Dol bW
SeedHd ciresirary Aedis ©8 drdhs $0; Soab adabtod

Options :

The Zabt Revenue System



Question Number : 137 Question Id : 4771871517 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This Department looks after the loeal systems of medicine such as Ayurveda,
Homeopathy. Unani. Siddha and research in them

- i, —_ - " o = - ; i i .
& Derio sdnt:;So, FHArHa, chard, HY Hod L5 Jiy ATrTreid $n8cn
.

Options :
Department of Aids Control

sonky Adboges Jgeiio

Department of Health and Family Welfare

@5°1; shBdin Hévos Hogh dgriio

Department of Health Research

-

sB; $B68°5% Deeiio

Department of AYUSH

v sding aeriio



Question Number : 138 Question Id : 4771871518 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the true statement regarding Bank Interest rates
eFI05 :;-3 30%3 Romofot) HOE -:\_,'ESMO'ES 2 hBoHod
Options :
Banks levy uniform rate of interest on all types of loans

w T0%e o) Sve HeroR 28 DS 5E Tendh DB

1.
Bank Interest rates vary from loan to loan and depend upon loan period
em0% $E Den SHerdS, Herds HB0M Hes X;POD STREBE SPHER Soeron
2. J
Bank charges higher rates of Interest on Housing Loan compared to
personal loans
T T SOy e [ (T AR S AUV SUTI v S V- (o ILY U £ ﬂay, 2
-:r_-aé_hﬁé tera®® 5P & (1 3el® Boeres ) "":':F_Qé.:ﬁs] oJ53] 6) EélFm O30l  oledPED Qoo
3, & = = :

Bank charges lower rate of Interest on Personal loans

H;508 Herep aroh 85,5 S Tenid DB



Question Number : 139 Question Id : 4771871519 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In1885. this retired British official played an important role in establishing

Indian National Congress

18858° i erdich ol ;ﬁ;‘inoiﬁf‘icsé"a S0P B FR0DND DED DBHoes DS
)35, b8
Options :
Lord William Bentick

=5 DOdbo Bods

Sir Arthur Cotton

6 w88 PeR

A.Q. Hume

3 A.O. Siregen

Thomas Munro

PR S0



Question Number : 140 Question Id : 4771871520 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The chola ruler who built the town of Thanjavur and a temple for Goddess

Nishumbhasudini at that place

Boerarth Heerd) B0 & POFod® HoFEred BHED sodird) J808 S

Options :
Raja Rajal

ore3 e |

Aditya Chola

) % ©bHE; Shes

Vijayalava
T V‘"; =0 )

3 Dexdireds
Rajaraja Chola

TeeaTmes S0



Question Number : 141 Question Id : 4771871521 Question Type

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

‘Prashasthi’ refers to

Options :

the concluding words written in the inscription

: MCQ Option Shuffling

FPrIN0S” ERhd sDA0L) ITPeD
1. ® B
The first part of the inscriptions
FrRaTred” Sntdty A spio
2. ¢
A detailed description of ‘construction of the temple’
‘Bo0d Jo7Es0’ GNE) DSBEPES HOS
3. % N )

The Ancient stories of Kings and queens

: Yes Display



Question Number : 142 Question Id : 4771871522 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In 1946, this incident had sparked off the famous Telangana Armed Struggle
19468°, & Hodhesd |ﬁ?&§ Beoires Jrding 5Poetrdt rod 50808
Options :
Suppression of tillers Movement by the Nizam of Hyderabad

rtiTrerd Jerod Haprda i 97 &ho wedadhatio

organisation of People's Court by Nalla Narasimhulu

£ B A Bor wf. ovad B o
S $8JosToen @SN A irotio

Shooting of Doddi Komaraiah

&E §andchyd 508y Hostio

formation of Vishala Andhra

= Fuk PR 7T
&.."E';-""QTEOI_QMJ o_,'i_?':;.&,l_: LADGo



Question Number : 143 Question Id : 4771871523 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The establishment of the state of Andhra Pradesh in 1956 was bazed on the
19566° @oins oo 5% 6 wrrdorr eBAok
Options :
Gentlemen Agreement with Andhra

5 R Y A Y SI TV o
808 BBHspe Linotio BB Hto TrTe

Indian Independence Act, 1947

5 % OE8 Jerdo Héo, 1947 oeoe

provisions of the Andhra Mahasabha

ol 0s3e Jmotide TR

agreement between the Indian Union and the Nizam of Hyderabad

gPOE CUrRoHS HBan Srdorerd Jero e B8RS edotio T



Question Number : 144 Question Id : 4771871524 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Constituent Assembly was mainly dominated by these members
TreProfl SEE” [HErRore &3 Rdhpen @HHeE0 TPanoTeD
Options :

The members nominated by the British Crown

The members of the Indian National Congress

gl sl SPofin gien
2.
The Educated Youth of the Country
., 0%06% domsgodBs atnse
3.

The members appointed from the Princely States

TeiiBE Trape ool AdhInodals Hihen
L 5

: Yes Display



Question Number : 145 Question Id : 4771871525 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to NCF-2005. which of the following were combined to study in
Environmental Studies (EVS)?
NCF-2005 55750, S0886° 39 $8500e depio (EVS)E® eichido Bahed
8o ToDalSD?
A) Health and Physical Education
e6%;0 $B6m T D
B) Work Experience
20 @EHo
C) Technology with Values
Dendod ErAS Froshis
Options :
A & Bonly
- A & B 5@

E &1‘ B, Glll:v
B &C E;I'-‘;Q‘ﬁ?“::n

A&C only
A &C srEad

AB&C
4. v



Question Number : 146 Question Id : 4771871526 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s the most important aspect to consider when evaluating

a science period plan used in a primary level classroom?

EPEE Spon E3HS 1BS° SHEAPACT PF) HBEHE PEH Hreroso TaeH
HBKEaSS 08 80878 Sngghd wodo 08?7
Options :
The number of pages covered from the textbook

Pyt raynso ok ¥56 Rehals Dfe HSogr

The variety of colours used in the teaching aids

- o g — \ i -
S Firhost 65E@PACDS Soibe G0

2. % -
The extent to which learning objectives were achieved
88700 e5en Jodadhish Jrfodatron

3‘ ‘::;? [

The teacher’s ability to complete the lesson quickly

ST ;5GP Dobite 6TREME PHTo



Question Number : 147 Question Id : 4771871527 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main objective of the “PRASHIKA" programme 1s

"8 Oy Bio ) PPN ©F0

Options :

2. ¢

To provide mid-day meals to school children

s

oy -
5 s-
sREgRe fIee
-

1]

) PoGPraey S eado @ofoddo
= CF.

To train teachers for innovative classroom practices

Eﬁ

S7eh) 85158 K6 B Bho aPFmroie 85m a¥o

To promote girl child education in rural India

[ akEs FEE0E 08" Do )R (8 ﬁé arodto

To distribute free textbooks in government schools

$2hE; FSTred’ 608 Jedniisod Hobs Babto

: Yes Display



Question Number : 148 Question Id : 4771871528 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One among the following 1s NOT an advantage of activity based approach

=

NP2 SPeb

ool A1 -
Eobd arédS® B aerted &aiishain Ging
Options :
Provides scope for experiential learning

#

: .20 S S0 sy,
Gt o.;:-ﬁ;é @dironanni ®nsedo :ut'f__:':b- £05

1.
Learner plays a passive role

) @ STRE0 IgYOIPEE P8 HaParDd
Teacher acts as a facilitator
SRR e B0mr Hrbard

3. ®

Provides scope for learner to interact with material

e

"~ i
oy T 0= v A oyt o
WRHA8 PG HESTEn 83 wdsedo 587 00d



Question Number : 149 Question Id : 4771871529 Question Type : MCQ Option Shuffling

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following List A with List B

808 O A & O B & as8H5S08
List A
O A

A) Graphic Aids
D5 S35 Seren

B) Three dimensional aids
@0@ch Hosoren

C) Projective aids

ot Hus ot 4 .
|P_:§_&JE”5I =B50ren

ChGDSE the COorrect answer
535 DoBED HBOBOA

Options :

A-1n1,B—1,C—1v
1. ¢

A-nmi,B-1,C—1v

A unB-w(C-1

A-1n,B—11,C-1

i)

1i1)

iv)

List B
o5 B
=]
Models, Puppets
n e, &en S enen
Cards. pictures

0, TEReD

. Tape recorder

Slides,

ORI - |
CoJEID, olED e

fF3zH

: Yes Display



Question Number : 150 Question Id : 4771871530 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The present EVS Textbook of Class V in Telangana has been developed on the
following guiding principles of NCF, 2005
Boorred V 8558 EVS gdh& 853550 NCF, 2005 @nE)y Bob Sr3EGE Srpre
srdorr $airt Zahalod.
A)  Child centric approach
3 SoB5 8 derdo
B) Linking the content with dailv Iife experiences
DRGSR DE; £28 g res® odbiorloh
C) Teacher should limit to the textbook
=ty ik ovnlas) théﬁgés%_éﬂ' 2B&oErhe
D) Providing scope for Continuous Comprehensive Evaluation
AB0o80 SN surerosrds esisedo EDy0h

Options :

| % ABOD
B. C. D only
5 % B. C. D i@
A, B, D only
A, B, D simgab
3.¢
A, C, Donly

A, C, D&rgd



